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I Semester B.Sc./B.C.A./B.Sc.(Biotech)/B.Sc.(Fashion Design)/

B.H.M. Degree Examination, November/December 2019

KANNADA
Paper I - ¥gbRd 8230¢ Ind mens 1y 83n¢ Konm

(CBCS - New)
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Time : 3 Hours Max. Marks : 70
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I Semester B.A./B.Sc./B.Com./B.B.M./B.S.W./B.C.A./G.M.T.

Degree Examination, November/December 2019
BASIC ENGLISH
English — I - Words And Beyond

(New)
Time : 3 Hours Max: Marks : 80
1. Annotate any two of the following : (2x6=12)
(@) “Well: that is good for me:
that is how I desire to speak”.
(b) The four of them went back to the hut without further delay. They found
the corpse missing, the litter empty.
(c) “Children have no manners but at least theyre honest — they never
pretend”. _
(d) Sarah’s fingers danced over the typewriter like little flies above a
summer stream.
2. Answer any one of the following : (1 x16 =16)
(a) What is Shaw’s attitude to speaking, ‘Correct English’, both as far as
native speakers are concerned as well as foreign speakers of English?
(b) Discuss how the theme of death is the focus of the story, ‘The Living and
the Dead’.
3. Annotate any two of the following : (2x6=12)
(a) And I have learned, too, to laugh with only my teeth and shake hands
without my heart.
(b) Had he and I but met
By some old ancient inn.
We should have sat us down to wet
Right many a nipperkin!
(c) Shine on me, sunshine
Rain on me, rain
Fall softly, dewdrops
And cool my brow again.
(d) She wants a fifty paise coin

She says she will take you
To the horseshoe shrine.

1/2 P.T.O.
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4. Answer any one of the following : (1 x 16 =16)

(a) How does artificiality and appearance creep into daily life according to
Gabriel Okara?

(b) What is Rabindranath Tagore’s message to the countrymen in his poem
‘Where the mind is without fear™

5. Grammar :
(a) Rewrite the following sentences as directed : (4 x2=28)

(i) Ihave reached my destination.
(Rewrite into Past Perfect Tense)

(i) They are playing cricket.
(Rewrite Past Continuous Tense)

(ili) Parvati plays the violin brilliantly.
(Rewrite into Simple Past Tense)

(ivy My watch has kept good time.
(Rewrite into Past Perfect Continuous Tense)

(b) Rewrite the following sentences as directed : (4 x2=8)

() The Indians defeated the British at Mysore.
(Rewrite into Present Continuous Tense)

(i) The ship had sailed.
(Rewrite into Present Perfect Continuous Tense)

(i) She had been living here.
(Rewrite into Simple Present Tense)

(iv)] She was completing her assignment.
(Rewrite into Present Perfect Tense)
(c) Rewrite the following sentences into passive voice : (4 x2=8)
(i) Everyone loves him.
(i) He handed her a chair.
(i) Columbus discovered America.

(ivy The manager will give you a ticket.

2/2
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I Semester B.Sc./B.C.A./G.M.T. Degree Examination,
November/December 2019
BASIC ENGLISH
: English — I
(CBCS - 2017-18 - New)
Time : 3 Hours Max. Marks : 70

SECTION -1
(SHORT STORIES)

1. Annotate any two of the following : (2x3=6)
(a) Iwanted to raise my hand and touch her hair; but she moved away.

(b) A huge crowd stood around and watched in great glee. The engine began
to move.

(c) The girl said, I'm getting down at Saharapur. My aunt is meeting me
there.
2. Answer any one of the following : (1 x 10 =10)

(a) Justify the title of the story The eyes are not here’ by Ruskin Bond.
(b) What problem did the narrator face after winning the price in “Engine

Trouble™?
SECTION - 11
(ESSAY)
3. Annotate any two of the following : (2 x3=6)

(a) In India, he signed with real pain. We could write the definitive book on
"~ envy.

.(b) The Dabbawalas are astounded when they are told that their business is
a perfect example of Six Sigma.

(c) They deliver nearly 200,000 lunches every day.

4, Answer any one of the following : (1 x 10 = 10)
(a) What is the secret behind the success of the Dabbawalas trade?

(b) What are the difference between American and Indian education?

1/3 P.T.O.
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SECTION - III

Annotate any two of the following : (2x4=8)
(@) At the end of the bumpy ride

With your own face on either side

When you get off the bus.

(b) I was angry with my friend;
I told my wrath my wrath did end.

(¢)  Turning again toward childish treble,

Pipes and whistles in his sound.

Answer any one of the following : - (1 x10=10)
(a) Explain the different stages in a man’s life as given in the poem.

(b) What is the message of a poison tree by William Blake?

SECTION - IV

(GRAMMAR)
Fill in the blanks with appropriate articles : (5x1=35)
(@) He goes to college in morning.
(b) Mr. Roy is honorable man.
(c) The dogis domestic animal.
(d) Isaw animal moving in the forest.
(e) Ganga is a holy river.
Fill in the blanks with appropriate prepositions : (5Sx1=25)
(@) Exam will be held Monday.
(b) Eat the ice cream : the spoon.
(c) This film is adults only.
(d) Her house is the college.
() © The man fell the river.

2/3
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9. Change the sentences according to the instructions given in the brackets :
(5 x 2 = 10)

(@) She speaks Kannada.

(Change into present continuous tense)
(b) I am going to Hubli,

(Change into simple present tense)

(c) We are buying fruits from the market.

(Change into present perfect continuous tense)
(d) The boy is learning English.

(Change into present perfect continuous tense)

(e) She plays cricket very well.
(Change into negative sentence)

3/3
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I Semester B.C.A./B.Sc. Degree Examination,
November/December 2019
BASIC HINDI
Paper I - Study of Indian Language
(CBCS)

Time : 3 Hours Max. Marks : 70
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I Semester B.Sc. Degree Examination, November/December 2019

Time : 3 Hours

PHYSICS
Paper I - Mechanics and Properties of Matter

(CBCS)
Max. Marks : 70

Instructions : Write answers to Section A questions in the first two pages only.

10.

11.

12,

13.

14.

15.

SECTION - A

Answer the following : (15 x 1 = 15)

What kind of frame of reference is rotatory frame of reference?
Write one characteristic of centre of mass.

What is an oblique collision?

Define Newton’s law of impact.

Give one example for torque.

Define angular momentum.

Write one characteristic of inelastic collision.

Write the expression for moment of inertia.

Define perpendicular axes theorem.

Why most of the mass is concentrated at the rim of a flywheel?
Define longitudinal strain.

What is elastic fatigue?

Define Poisson’s ratio.

State law of areas of Kepler’s law of planetary motion.

What is Streamline flow of a liquid?

1/2 P.T.O.
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16.

1§ 8

18.

19.
20.
21.
22.

23.

24.

25.

26.

27.

SECTION - B

Answer any five of the following : (5 x 5 =25)

What are Galilean transformation equation? Show that velocity is variant in
Galilean transformation.

Derive an expression for the loss of kinetic energy in one dimension inelastic
collision.

Derive an expression for law of conservation of angular momentum with an
illustration.

State and prove parallel axes theorem.
Explain origin of elastic forces with neat figure.
Write a note on geostationary satellite.

Derive an expression for terminal velocity.

SECTION-C
Answer any three of the following in detail : (3 x 10 = 30)

(a) Deduce an expression for Coriolis force.

(b) Find the horizontal component of Coriolis force acting on a body of mass
0.3 kg moving north word with a horizontal velocity of 200 m/s at 30°N
latitude on earth. (6 +4)

(a) Derive an expression for the velocity of single stage rocket at any instant
of time.

(b) Verify the law of conservation of energy in case of a particle executing
SHM. (5+3)

(a) Obtain an expression for M.I. of the circular disc about an axis passing
through its center.

(b) Describe an experiment to find the moment of inertia using flywheel.
| (S + 5)

(a) Derive an expression for couple per unit twist of a torsional cylinder.

(b) Find the energy stored in a wire 5 meters long and 10 meter in
diameter when it is stretched through 3x10™° meter by a load. Young’s
modulus of the material is 2x10'"" Nm™. (6 + 4)

(a) Deduce Poiseuille’s equation for the steady flow of liquid in a tube.

(b) Derive an expression for workdone in stretching a wire. (5 +5)

2)2
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I Semester B.Sc. Degree Examination, November/December 2019

MATHEMATICS
Paper 1.2 - Calculus - I
(New)
Time : 3 Hours Max. Marks : 60
Instructions : Answer all Sections.
SECTION - A
Answer any ten of the following : (10 x 2 = 20)

Find the nt derivative of y = e** sin? x.

2. Find the nth derivative of y = Q—x——
2x" +3x+1
3. If y=x" logx show that y,,, =B
x

azu 2 6211
4. Hfu=®(y+ax)+yly-ax) show that —=a* —.

ox oy

2 2
5. If fix, y)=xY +y*, show that of =2f ]
0x dy Ody ox
6. If u=x®+y®+2z®-3xyz, showthat xa—u+ya—u+za—u=3u.
ox dy 0z
7. Show that the curves r =aé and r =a /@ intersect orthogonally.
8. For the curve r = a(l - cos 8) show that 2ap® =r?3.
. ds 2
9. Find — for the curve y* = 4ax.
dx
10. Find the radius of curvature at any point (p, r) on the curve r® =a’p,
11. Show that y =e”* is everywhere concave upwards.
12. Find the envelope of the family of circles (x-a)’+y?=4a, where ‘a’ is
parameter.
1/2
e —————— TP Y Sr—
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SECTION - B
Answer any four of the following : (4 x 5 =20)
13. Find the nth derivative of y = e™ cos(bx + c).
14, If 4= sinh™' x 2 2
. Y= _Jz——l then prove that (x* +1)y,,, + (2n + 3)xy,,, + (n +1)’y, = 0.
x* 4+
15. If x =rsinfcos¢, y =rsinfcosgd, z =rcos@ then find M
or, 0, ¢)
16. State Euler’s theorem and prove Euler’s extension theorem.
17. If z =e™ flax - by), show that ba—z + aa—z =2abz.
ox dy
18. Prove that ou, v) x olx, y) _ 1
alx, y) olu, v)
SECTION - C
Answer any four of the following : (4 x 5 =20)

19.

20.

21.

22.

23.

24.

With usual notations derive a formula for angle between radius vector and
tangent.

Find the angle of intersection of curves r?sin28 =4 and r? =16sin 26 .

Find the pedal equation of curve parabola y? = 4a(x + a).

Find the radius of curvature at any point for the curve x=acos®t and
y=asin’t.

x? 3
Find the evolute of the ellipse — + > =1.
a®~ b

2

Show that the curve r = fzi-l- has a point of intersection at r = %a_.

2/2
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I Semester B.Sc. Degree Examination, November/December 2019

Time : 3 Hours

MATHEMATICS
Paper 1.1 - Algebra -1

(New)
Max. Marks : 60

Instructions : Answer all Sections.

10.

SECTION - A

Answer any ten of the following : (10 x 2 = 20)

Symbolize the following and negate “All odd numbers are not prime numbers
and some prime numbers are even”.

Define quantifier and give an example of quantified open sentence.

Find the truth set of x? —3x+2 > 0, the replacement set being z, the set of all
integers.

If pis false and (g Ar) — p is true, show that ~g v ~r is true by direct proof.
State Remainder theorem and Factor theorem.

Solve the equation x> +15x2-72x+76=0 given that there exists integral
roots between -3 and 3.

Find the nature of roots of the equation x° - x° + x* + x> +1=0.

Find the equation whose roots are 3 times the roots of x> +2x2 -4x+1=0.

2 :3c4
Find the rank of the matrix | 3 1 2| by using definition.
-1:2 2
|\ (R, 1* g =g
Show that the matrices | 2 5 4 |isequalto|0 1 8
-1 -3 2 0 -1 0
1/3 P.T.O.
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Define normal form of a matrix with an example.

For what values of i and 5 the following system
X+Yy+z=06

X+2y+3z=10

X+2y+puz=n

will have a unique solution.,

SECTION - B
. (4 x 5 = 20)
Answer any four questions :

negation

Define compound open sentence and prove that the truth set of the ) it is

of an open sentence P(x) is the complement of the truth set of P(x
T[~Px)] =A{T [P(x)]}' .

If P(x): x is prime divisor of 210 and q(x): x> < 40 the replacement set is the
set z of integers, find the solution set of p(x) v g(x) and p(x) A q(x) -

If two roots of the equation x*+6x3-16x2+24x-20=0 are purely
imaginary, solve the equation.

4+Ex3+ix2+__l_=0 into a.r.lother W'lth

4
Transform the equation x° + — x
1 3 9 12 36

integral co-efficients.
Solve 28x% +9x2 +1=0 by Cardon’s method.

Transform the equation 2x° -9x? +13x-6 =0 into one in which the second
term is missing and hence solve the equation.

SECTION - C
Answer any four questions : (4 x 5 = 20)
1 1 1 1
) .1 3 -2 1 . o
Find the rank of the matrix 20 -3 2 using elementary row operations.
33 0 3
Find the rank of the matrix A, by reducing into its normal form where
1 1 1 2
A=|2 1 -3 -6/|.
3 -3 1 2

2/3
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21.  Solve completely the system of equations
Xy +3Xx; +2x, =0
2x%) —x, +3x, =0
3x; =5x; +4x, =0
X +17x, +4x, =0,

22. Test the following system for consistency and solve if it is consistent.
x+2y-2=3
3x-y+2z=1
2x -2y +3z=2.

|12
23. Find the eigen value and eigen vector of the matrix L B 2} .

’ 3 2 .
24. Verify the Cayley Hamilton theorem for A = {2 3} and hence find A™".

3/3
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I Semester B.Sc. Degree Examination, November/December 2019

BOTANY
Paper 1 - Viruses, Bacteria, Cyanobacteria, Algae, Fungi and
Lichens
(New Syllabus — CBCS)
Time : 3 Hours Max. Marks : 70

Instructions :
1) Answer all the Sections.

2) Draw diagrams wherever necessary.

Il Answer the following : (15 x 1 = 15)
1. Define Virus. Name any one plant disease caused by them.

2.  What is Cystocarp?

3. Define Algae.

4. Define foliose lichens.

5. Name the male and female sex organs in Chara.

6. Define mycelia.

7. Name the algal members having capcells.

8. What are biofertilizers?

9., What are charmogones?

10. What is false branching? Name the algal member which possess false
branching.

11. Name the pathogen that causes red rot of sugarcane.
12. Define Plant pathology.

13. What is Sterigmata?

14. What are diatoms?

15. What is Plasmid? Give an example.

1/2 P.T.O.
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II.

16.
17.
18.
19.
20.
21.

22.

II.

23.

24.
25.
26.

Y

Answer any five of the following : (S x 5 =25)
Describe the structure of bacteriophage with neat labelled diagram.

Describe the asexual reproduction in Cercospora.

Write the symptoms and controlling measures of grain, smut of Sorghum.
Give brief account of life history of ectocarpus.

Give the general characters of fungi.

Explain the structure of scytonema with neat labelled diagram.

Write note (short) on :
(a) Sordia
(b) Heterocyst

(c) Nannandrium.

Answer any three of the following : (3 x 10 = 30)

What is Sporangia? Explain the unilocular and plurilocular sporangia of
ectocarpus.

Explain the life cycle of Rhizopus.
Describe thallus and sexual reproduction of Volvox.
Describe the asexual reproduction in albugo with neat labelled diagram.

What are viruses? Give the living and non-living characters of virus.

2/2
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I Semester B.Sc. Degree Examination, November/December 2019
ZOOLOGY
Paper Z-1 - Biology of Non-Chordates

(CBCS)
Time : 3 Hours Max. Marks : 70

Instructions :
1)  Answer all Sections.
2) Draw labelled diagrams wherever necessary.

SECTION - A
Answer any five of the following questions : (5 x2=10)
1. What are flame cells? Mention their function.
What is metagenesis?
Which is the highest and lowest taxon in Linnaean hierarchy?
What is mantle? In which phylum does it occur?

What is digenetic life cycle? Give an example.

o v oA W N

Define spongocoel. Mention the larval stages in the life cycle of sponges.

SECTION - B
Answer any six of the following : (6 x 5 =30)
7. Explain the different theories regarding locomotion in Amoeba.
8.  Sketch and label the nervous system of prawn.
9. Explain briefly about the systems of classification.
10. Write a note on the key characteristics of Wucheraria bancrofti.
11. Enumerate the unique features of the phylum Echinodermata.

12. Give an account on the classification of phylum Annelida upto classes with
examples.

13. Describe the nervous system of pila with a neat labeled diagram.

14. Write the General characteristics of the phylum platyhelminthes.

1/2 P.T.O.
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15.

16.

17.

18.

19.

SECTION - C
Answer any three of the following in detail : (3 x 10 = 30)

Describe the digestive system of prawn with a neat labeled diagram.
Write an essay on asexual cycle of Malarial Parasite.
Explain the life cycle of obelia with a neat labeled diagram.

Enumerate the unique features of the phylum mollusca and classify upto
classes.

Describe the life history of Taenia solium with a neat labeled diagram.

2/2
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I Semester B.Sc. Degree Examination, November/December 2019

Paper I - CHEMISTRY
(CBCS - New Syllabus)

Time : 3 Hours

Instructions :

—

© ® N o U sw N

[ S
M o~ O

13.

36122

Max. Marks : 70

1)  Section A contains questions from Inorganic, Organic and Physical

Chemistry.

2)  Section B contains questions from Inorganic Chemistry, Section C contains
questions from Organic Chemistry and Section D contains questions from

Physical Chemistry.
3)  Answer all the four Sections A, B, C and D.

SECTION - A
Answer any ten of the following questions :
Give the electronic configuration of Na.
State Aufbau principle.
Define Ionic radii.
Write Born-Lande equation.
Why Sigma bond is stronger than Pi bond?
What are carbenes?
Define bond length.
What are diastereomers?
Define Mean free path.
What are Miller indices?
Define Refractive index.
State law of corresponding states.
SECTION - B
Answer any two of the following questions :

(a) Describe the Quantum Numbers.

2

(b) Write the physical significance of ¢ and y~.

1/2

(10 x 1 = 10}
(2 x 10 = 20)
(6)
(4)
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14. (a) Discuss the Born-Haber cycle.

(b) Explain the variation of ionization energy in the periodic table and give

the meaning of ionization energy. (4)

15. (a) Define Electron affinity. Explain its variation in the periodic table. (6)

(b) Give the four characteristics of ionic compounds. (4)
SECTION - C

Answer any two of the following questions : (2 x 10 = 20)

16. (a) Describe the sp® hybridization with ethane as an example. (6)

(b) What are carbonium ions? Give a method of formation of carbonium
ions. (4)

17. (a) Define with an example of (i) Addition reactions (ii) Reduction reactions.

(6)

(b) Explain : (i) Chiral carbon (ii) Enantiomers. (4)

18. (a) What is optical isomerism? Explain the optical isomerism in tartaric

acid. . (6)

(b) Write the formation and stability of carbanion. (4)
SECTION - D 7

Answer any two of the following questions : (2 x 10 = 20)

19. (a) Deduce Vander Waal’s reduced equation of states. (6)

(b) Give the differences between Crystalline solid and Amorphous solid. (4)

20. (a) Describe the method of determination of surface tension of a liquid by

using Stalgnometer. (6)
(b) Write a note on continuity of states. _ | (4)
21. (a) Derive Bragg’s equation. | (6)
(b) Discuss the application of Parachor in elucidating the structure of
Quinone, (4)

2/2

Scanned with CamScanner



(LA 10911

I Semester B.B.A./B.A./B.Sc./B.Com./B.C.A./B.S.W.
Degree Examination, November/December 2019

POLITICAL SCIENCE
Indian Constitution (Compulsory)

(CBCS - New)

Time : 3 Hours Max. Marks : 70
SECTION - A/Qern - &

Answer any ten of the following each in two or three sentences : (10 x 2 = 20)

FYNT alPF)Teute H3) %éﬂﬁeﬁrﬂ Bo]rfolelnEASYIeN mﬁasrieﬁq U302

1. What is Constitution?

302591 doWTERO?

2.  What is citizenship?

:u’adsaaoddeab?

3.  Write the meaning of liberty.
@J‘a’o@ g o006 uge w300,

4. What is preamble?
BrSs dordedy?

5. Give the meaning of Judicial Review.

T0T ARBE oowderd?

6. What is Republic?
neaoety H0ETeR?

1/3 P.T.O.
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7. What is secular state?

w033, 3c3 UoR i DoTesy?

8. What is Government?
350 dordesy?

9.  Write the meaning of Democracy.

SseFh3n ege w300,

10. What is Federal Government?
20000F I5ETC 0BIeRO?

11. Name the two houses of the Indian Parliament.

2030 TIFR00EIN H0RY 3EENY BROTY 392

12. What are the Qualification to become a Governor?
caz%aaaoamsmdq QOUeTT BN, 392

SECTION - B/awen - &

Answer any two of the following in medium size answers : (2 x 10 = 20)

3UNT cdRR@RTT HOB> BBV PR I eugorYsy WD ;

13. Explain the powers and functions of Chief Minister.
B0z 30080330 ¥BFT 03y FoobFTien) DB0A.

14. Explain the kinds of Fundamental Rights.
2P BF20rY Boeeried Bsrida) D00,

15. Discuss the composition, powers and functions of Legislative Assembly.

2es Ryfab Ous, vhEd SH3) FaadrnYE), B0

16. Explain the preamble of the Indian Constitution.
27030 KoAFIRE BrySBab) H=020.
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17.

18.

19.

20.

SECTION - C/an - 2

Answer any two of the following lengthy answers : (2 x 15 = 30)
SIS QRRYTREA 0w B89N BepF evdo oD

Explain the powers and functions of President of India.

WYO03E Tom )P0 8RT0 F03) Fo0bFNYR) DXOR.

Discuss the acquisition and Termination of Citizenship.
SPUISR), BE 0T B3 FIROIBAN,T APoRnYE), ISR

Explain the composition powers and functions of Rajya Sabha.
Oat 73ad Bus 8BE0 HA) Faobr ﬁddiaﬁa?o.

Describe the salient features of Indian Constitution.

PoU3H R0PONT OFHNYRY H03.
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